| 3 | 2 | ]

PARTS LIST
ITEM|QTY PART NUMBER DESCRIPTION MATERIAL MASS
1 1 |Crankcase Aluminum-6061 0,533 kg
2 | 6 |Cylinder Aluminum-6061 0,191 kg F
3 | 6 |Cylinder Head Gaskef Rubber 0,001 kg
L | 6 |Cylinder Head Aluminum-6061 0,038 kg
5 | 24 |Cylinder Head Bolt Stainless Steel 0,019 kg
6 | 6 |Assembly Piston 0,046 kg
1 | 6 |Connecting Rod Aluminum-6061 0,008 kg
8 8 1 |Assembly Crankshaff 0,415 kg I~
A 9 1 |Connecting Rod Hub Brass, Soff Yellow|0,075 kg
",,/f: 18\ 19 10 | 1 |Crankcase Cover Aluminum-6061  |0,197 kg
‘,.jy_.,‘.j‘y{,(%!‘{_.‘,‘_ é! 11 | 1 |Crankcase Gaskef Rub.ber 0,003 kg
,:'...' //,r" < 3 12 1 |Flywheel Stainless Steel 1,863 kg
- \ ‘:,7,‘/;///\ ; : - - {g.‘_‘l‘ 13 | 1 |Valve . Bras;, Soft Yellow|0,100 kg E
S ‘ . 14 | 1 |Valve Housing Aluminum-6061 0,226 kg
N 15 | 1 |Stand Wood (0Oak) L, 134 kg
A b 16 | 1 |Bearing Holder Aluminum-6061 0,426 kg
:‘: ] ' 17 | 1 |Bearing Stand Aluminum-6061 0,666 kg
5‘2" —\—,/%/ G@ 18 | 1 |DIN 472 - 28x1,2 Rg’raining rings for I?ores Steel, Mild 0,001 kg
:.}_i’ Dy P 19 | 3 |DIN 625 SKF - SKF 6001 Single row ball bearings |[Steel, M!ld 0,021 kg |~
"?é" S 20 | 24 |DIN 1587 - M6 Hexagon Domed Cap Nuts |[Steel, Mild 0,005 kg
> N 21| 6 |ISO 2338 - 5 h8 x 16 Parallel Pin Stainless Steel, {0,003 kg
’ (7 g Austenitic
( ] ( 6 [ISO 4762 - M6 x 45 Hexagon Sockeft Head Stainless Steel, 0,013 kg
Cap Screw L40C 0
L |ISO 4762 - M10 x 25 Hexagon Sockeft Head Stainless Steel, 0,028 kg
Cap Screw L40C
6 [ISO 7045 - M6 x 16 - 4.8 - H |Cross Recessed Pan Stainless Steel, 0,006 kg
Head Machine Screw LL40C
1 |Parker Hose Barb fo Male Hose Barb to Male Pipe |[Brass, Soft Yellow 0,027
B__I Pipe 125HBL 125HBL-L4-2 lbmass Q—
1 |ISO 4028 - M5 x 8 Hexagon socket sef Stainless Steel, 0,001 kg
' screws with dog point L4,0C
/ é \/@ 1 |Silencer M8 Brass, Soff Yellow|0,020 kg
C
|
ot | ! gl © D
i i 1000 i
Q O
o’/ \TE o’/
T Revision| Date Description B
Engineered by: Name: Dafte: Scale: 1:2
- Galba, J. Designer: | Galba, J. 26/03/2011 =
3?5 \ / Approved:|Galba, J.  |26/03/2011 | SheetSize: A2
%é Project: Material:
5 B Miniature Model Engine Toral v 11850 e
53 . Title: —
e G VT TR 507 i e e T o e | © Cylinder - Radial Engine (Pneumatic)
—%E E Roughness Value “Ra” in ym ( NBN 88-02 ) ( ISO 1302 ) 25 12,5 6,3 3.2 16 0,8 0,4 0,2 Assembly
g’j% Allowable deviations for dimensions without tolerance indication (machined surfaces)
gg g For measurements ( deviations in mm ) Fillets and chamfers Angles (in ° and ')
% E u.ii Dimensions in mm Dimensions in mm Length of the shortest leg
% g% A(clgé]raz?scééss (:05 >2f0000 (:05 :3 ;z >f300 >:§0 fo f100 >f500 >:§0 above Drawingnumber: Sheet: A
iEE 3 6 30 | 120 [ 600 ] ™| 50| 120 s00|* O 0001
E;E +0,2 | 0,5 +1 +2 4 £1° [ £30" | 20" | #10" | +5' - - -
g2 . _| Uesian State: RO [t s
IMFleardé Released el
| L | 6 | 3 | 2 | 1




